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Questions





1. What kind of environment did Larry the Tadpole live in?


Larry the Tadpole lived in a nice stream that had lots of space to swim 


and plenty of things to eat.








2. What was the main problem with Larry the Tadpole?


The main problem with Larry the Tadpole was that he was smaller than 


the rest of his tadpole friends, and was teased for his tiny size.








3. Where did Larry get his nutrients from?


Larry got his nutrients from his food, like the vegetables that he ate every day.








4. What is the definition of a life cycle?


A life cycle is are stages of growth in a living organism's life. They 


usually include birth, growth, reproduction, and death.








5. How did Larry's "problem" help him? 


Larry's problem helped him by making him swim faster. With a smaller and 


lighter body, he was able to travel longer and faster than his other frog friends. After that, Larry became more confident in himself.








